-HENRY PARK PRIMARY SCHOOL
2014 PRELIMINARY EXAMINATION

PRIMARY.6 SCIENCE .

Booklet A

Name: ( );

60

Class: Primary 6§

30 Questions
60 Marks

Total Timme for Booklet A and B: 1 k 45 min

_Q
‘DONOT OPEN THIS BOOKLET UNTIL YOIXARE TOLD TO'DO SO.

READ AND FOLLOWINSTRUCTIONS CAREFULLY.




Booklet A {60 marks)

For each question from 1 to 30, four oplions are given. One of them Is the correct answer. Make your

choice (1, 2, 3 or 4). Shade the comect oval (1, 2, 3 or 4) onthe Opfical Answer Shost.

. “The flowchart below shows the characteristics of four ving things, A, B, Cand

D.
Start
5 ) R . . . -
Does itmakelts | No . Does;tfeedon ] No [ A
own food? ' » decaying matter? g
Yes . ' Yes
Does it reproduce No _ B
from spores? 3 C —
Yes ‘
b,
D
Which of the following living things is/are-definitely a plani{(s)?
(1) C only
(2) A and B.only
(3) C and.D only
{4) A, Band D only (
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2.

- P6 Sciérice Prelim 2014

The flowchart below shows how some animals are grouped.

<[>

Question A No ! Groupw
Yes
. ¥ . No R
Do they reproduce » GroupX
by i_aying eggs?
Yes
v _
Question B No o] Group ¥
Yes.
"-.
Group Z
Animals G and H below can both be placed in Group Y.
Animal G
What could questioins A and B be?
' Question A Quastion B
{1) " Do they have wings? Do they produce mik for their
. _ young?
(2) " Do they produce milk for their Do they have wings?
A8)~~{-~ - ~—Dothey-have wil - “Dothey-havefeathers?—-- |
(4} - C ’ Do they have wings?
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3. The flowchart below shows how some animals are classlified.

Start Dogsithave a Yes | poesits young | TeS.[ A
"1 4-stage life cycle? live in water? i
No No
e/ il
Yes .
C le Does it lay eggs B
in water?
No
A J
b
Which of the following organisms best represent A, B, C and D respectively?
A B C D
&) . frog " chicken mosduito mealwémm beetle
(2) mosquito | mealworm beetle . frog chicken
{3) mosquito mealworm beetle . chicken frog
{4) | mealworm beetle- mosgquito frog, chicken
4, The diagram below shows parts of a flower that has been cut into haif.

Process A is needed for both plant and human reproduction.

Which parls) of the flower does Process A take place in?

(1) X only
(2) Z only

(3). Xand Y only
(4)Y and Z only

©. - P6 Science Prefim 2014 -
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5.

The diagram shows parts of a flower at a particular stage during reproduction.

Which of the following best describes sfructures X and Y7

Structure

x

Y

(N

A polien after pollination but before

- fertifisation

A seed after pollination and
fertitisation ..

1@

A polien after polliﬁaiion but before

- fertilisation

An oviile after pollination but before
fertilisation

(3)

A polien before pollination but after
fertilisation

A seed aftér pollination and
fertilisation

4

A pollen before pollination but after
fartilisation .

An ovuie affer p&lﬁnaﬁon but before
fertilisation

P6 Science. Prelim 2014
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7. Xiaoting wanted to find outwhat would happen toa plant if part of its stemwas |

removed as shown in Diagram 1.
After some time, she noticed a bulge at part Y of the stem as shown in Diagram 2.
Diagram 1 Diagram 2 - '
Bulge

Based on the above experiment, which one of the following statements is trua?

(1) The plant will not be affected by the cut in the stem at all.
(2) The plant will die aftet some ime as water fron the roots cannot réach the

other parts of the plant '
(3) The plant will die after some fime as food from the leaves cannol reach the

roots.
(4) The plant will die after some ime. as both food and water cannotbe

transported around the plant

. R Page 6 of 37’
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8. The diagram below can be used lo identify partA,B,Cand D ofa cell.

Parts of a Cell

rlgntpqmthanmal colts and plant cells? l

Yes

N\ No.

-Proes i control ihe
vlﬁasv.%hﬂm coll?

Does i caplure- subfight-
forpfwdsynﬂ'lesls?

_Ho/

Does h eontroi aubstances

that move In and out?

N

Which of the following correctly represents partA, B, Cand D?

A B c D
) nucleus chioroplasts cellwall | cell membiane
) cytoplasm nucleus cell membrane chloroplasts -
() cytoplésm cell membréhe nucleus chlmuplasts
@ | nucleus chloroplasts | celi membrane cell wall

" The diagram below shows a plant cell.

Which of the following parts of e piant cefl, A, B,C, D, E, are not foundinan

animal cell?

{1) Aard C only
(2) Band D only

3) A Cand E only
(4) B,Dand E only

P& Science Prelim 2014.

Page 7 of 37




10.  Which of ihe following are produced when plants canry out photosynthesis?
(1) oxygen and water |
2 okygeﬂ and sugar
(3) oxygen and starch

- "(4) carbon dioxide and sugar

11. ~ An experiment was carried outin a garden with a green plant.

The graph below shows the amount of oxygen produced by the green plant
during a period of 24 hours.

24-hour period

amount of §
oxygen

produced
per hour

Time

Which of the letters, A, B, C or D, on the graph represent the amount of oxygen
produced at 12.00 am and 12.00 pm on a bright day?

Aﬁibunt of oxygen produced at
"""" 12.00 am 12,00 pm
10! A D
2 A c
@ B A
4 C A
Page 8 of 37
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12.  Group X and Group Y shown below represent two different groups of organisms.

Group X

'Group Y

ants, milipede, wood lice,
fallen dead 1eaves

The table below shows the charadleristics of the environment found in four

different habitats.
Characteristics of the Envivonment
Habltat Temperature of
surrounding air Presence of Water Presencs of Light
Found as icabergs. et
_ e g 195 1 Onily during certaln
A Very low allthétime | 1N iCy s{t::aa;ns and months of the year
] Moderale Found in damp soil Very -Iltﬂ%:::st of the
Very high in the day, e
c very low at night Found as puddles Plentiful uj the day
. ‘ . More on the surfdce
Higher in the day Completely covered ,
b than at night in water and less  below the

In which of the habitats, A, B, C or D, would the organisms in Group X and Group

Y most likely be found?
Organisms in
Group X Group Y
(1) A D
{2) B c
(3) C B
(4) D B
Page 9 of 37
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13.

P6 Science Prelim 2014

The food chain shown below represents a food relationship in a particular pond
community. N is a water plant.

A large population of Q is accidentally mtroduoed mto the pond. Q doas not have
any predatars in the pond.

What is likely to happen ﬁnmediateiy if'Q' feeds on M oniy?‘ '

‘Az The population of N will decrease.

‘ B The population of M will decrease.

C: The population of P will-decrease.

D: The population of Q will decrease.

(1) Aand B only
{2) B and C only
{3) C and D only

(4) B, C and D only

Pagé 10 of 37
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14. The diagram below shows part of a pond and the organisms living in it.

Which one. of the following shows

producers, consumers, populations and communities in the pond?

N

(2)

)
(4)

correctly the number of different types of

Number of type Number of type Number of Number of
 of producers of consumers populations communities
2 2 5 1
3 2 5 1
"3 5 8 1
3 5 12 5

"~ P6 Séience Prelim 2014
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15. The diagram below shows two animals, P and Q.

Animal Q-

Animal P stings and feeds on smali organisms fike ants and spiders.
Animal Q fooks like animai P, feeds on nectar but does nof sting.

Which one of the following describes the advantage for animal Q to resemble
animal F?

(1) Animal Q would be able to feed on prey of Animal P easily.

{2) Animal P wotild ba able to mate with animal Q to répraduce.

(3) Predators of animal P-would be able to prey on animal Q as well.

(4) Predator of animat Q would avold preying onit, mistaking it for animal P.

16. The diagram below shows two plants, X and Y, which have special adaptationis
fo allow them to survive in their environment.

Plant Y

Based on the diagram shown, which of the following statements about blént')(
and Y are comrect?

A: Both plants have creeping stems.

B: Both plants need support to grow upwards.
C: Both plants are trying to obtain more sunlight.
D: Plant X has stronger stem than Plant Y,

{1} A and D only
(2)B and C only
(3)A, Band D only

N S . Page 120f37
.P6 Sclence Prelim 2014 o .

C




17.  John conducted an experiment to find out changes in temperature of water. He wrote the
procedure in the table as shown below.

Step 1 Place a beaker of ice, 10.g.in mass, al room temperature of 20°C to
meit completely. Record temperaﬂze

Step 2 Then heat the samé b‘é"'akeif_“:-"’of water over a burner tfﬂ' ;t reaches
boiling point. Reco.rﬂ f gl L

Step 3 “Continue”boliing water for < ningtes: Record temp -

Step 4 Remove beaker from bumer to aifow water to 'cool to room

temperature of 29°C. Record temperature.

He recorded his datain a graph aﬁereach step.

Which one of the following graphs most lkeiy represents the changes in temperature of
water over the duration of his expenment‘?

(1) (2} -
Temperature of water 1. Temperature of water
120 - 120 : :
°G 100 . ? 100 £ o
£ 80 [\ £ 30- o\
B g | \ € 6o / — \ :
£ / N g ‘ / N\
£ a0 | " —| |§ 49 | NI
Y™ / ‘ ‘ T 2 —k :
1 L AL AN S S M S B 0 e T T T T
5 10 15 20 25 30 35 40 45 30 55 5 10 15 20 25 30 35 40 45 50 S5
Time {min} L Time (min) _
(3) (4) L
Temperature of water Temperature of water
120 - - ) 120 -

g 100 1815 100 - .
£l ]\ ) S—n v
g 60 I \ :g‘ 60 I \
E 40 I \ - lg 40 I \‘
2 | ~. | 20 +— J e :
0 Ll _
510152025303540455055 ¢ 5 0 1% 20 25 30 35 40 45 50 55
Time (min) Time{min)
C )
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18.  The diagrams below show two types of glasses with different designs. Design A
has a double layer of glass as compared to Design B which has a single layer of
glass.

Design A

Design B

Ahmad poured water atm'.l 0°C into both glasses and left them in the same room.

Which one of the following graphs correctly shows how the temperature of water
changes with time in each type of glass?

(1) (2)
4 .
A B .
B
A
10°C 1 10°C £
_) .
—1 >
(4)
1\-
B
0, .
10°C A
iy
-

S - _ Page14of37
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19.
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Substance A and Substance B are in two different states of water.

The diagram below shows the properties of Substances A and B.

Substance A _. . SubstanceB
Has no definite shape, - Has no définite shape.
Has definite volume " Has no definite volume

What process takes place as Substance A changes info Substance B?

(1) Boiling
(2) Melling
(3) Freezing

(4) Condensation

An electromagnet can be made using two batteries, wires and an iron nail as
shown in the diagram below.

D i FAAVS S AR T TARINAN S

In a closed circuit, the iron nail becomes an electromagnet.
How can the strength of the eleclromagnet be increased?

A: Use alonger nail.

B: Increasa the length of wire used.

C: Increase the number of batleries in series.

D: Increase the number of tumsof wire around the nail.
(1) A and B only

(2) C and D only

(3) A, Cand D only
(4)A.B,CandD

Page 15 of 37
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21. The diagram below shows four bulbs connected together in a circuit.

o 8- _

e\

@

| [Se———

Which of the switches, S1, S2, S3, S4, should be closed for all the bulbs o fight
up?

(1}S1 and S2 only
(2).81 and S3 only
(3)#4, S2 and S4 only
(4)82, S3 and S4 only

22.  The diagram below shows three circuits with different arrangements of identical
batteries and bulbs. The bulbs in ail three circuits light up.

—d N —
Q R 3

2 & o |

Amrange the buibs, Q, Rand S, in the onder of brightness, starting with the bulb which. was
the brightest.

MQ R,
(AR, S
(3)S, Q,

R

S
Q
_ R
(4R, Q, S

; - Page 16 of 37
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24,

25.
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The diagram be!ow shows a metal spoon left in a pot of hot soup overa stove by
Mrs Leong.

Metal spoon

After 20 minutes, Mrs Leong used her hands to remove the metal spoon from the
pot. The metal spoon burned her hand. Which of the following explains why the
metal spoon burned her hand?

A: Mrs Leong’s hand lost heat to the spoon.

~ B: Mrs Leong’s hand gained heat from the spoon.

C: The heat.on Mrs Leong’s hand transferred to the spoon.
D; The spoon gained heat from the hot soup then lost heat to Mrs Leong's hand.

(1) Bonly

(2Y A and C only

(3)'B and D only _

{4) B, Cand D only (,

Maitin carrled out an expéeriment in a dark room with the set-up as shown below.
He arranged 4 sheets of different materials A, B, C and D in a straightfine, When
the torch was switched on, he observed that a bright patch of tight in the shape’
of a crescent was seen on sheet C only.

Crescent-
shaped hole I~

Sheet D

Sheet C

SheetB
Sheet A

Which of the following statements is/are defi n;tely true about the sheets used
above?

A Sheef A is opaque
.B:Sheet B is fransparent.

C: Sheet C is transparent
D; Sheet D is translucent.

(1) A enly
{2) A and B only

(3)Aand D only ' (,

{4) C and D only

)
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26. A river runs through a forest as shown in the diagram below.

direttion in liich;
= the iiver flows -

houses

Which of the following will most likely decrease the amount of pollutants inthe
river at point X7

A: Plant more trees nearer to point X.
B: Minimise use of pesticide In the farm. ‘
C: Stop dumping of s¢wage from the houses Info the river.

(1) A only

(2) A and B only
(3) B and C only
{4y A, B and C only

- - Page 19 of 37
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27. Dora had a spring with an original length of 15 cm. She wanted to find out the
relationship between the extension of the spring and different welg!ﬁs
She hung different weights on the spring, one at a time, ‘and measured its
extension. She recorded and plotted the resuits on the graph be!ow

&
30 -
27 -
24 |1 —17
‘S‘- .
£ 18
&
s 15
% /
2 12 /
5 .
w9
. _
/
O . »

0 50 100 150 200 250 300
Mass of weights/g

Based on the graph, what would be the length of the spring when a 200g weight
was hung on it?

(1) 18cm

(2)24 em

(3)27 cm

(4)33 cm

) . Page 20 of 37
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28. Aladder is placed leaning. against a wall as.shown below.
Which one of the following shows correctly the direction of frictional force acting
on the ladder when itis s!ldlng "down from the wali?

(1) {2)

(3) (4)

Sliding down Sliding down

 ladder ladder

- : _Page 21 of 37
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23. Susan ussd a- fridge magnet to aftach a piece of paper on the door of the
refrigerator as shown in the diagram below,

N Hidﬁemagnet
~ ,1 )
T e | - _
U '
Fa
— refrigerator
./ T

When she attached a thin piece of paper, the magnet waé able 1o hold itonto
the refrigerator’s door.

When a thicker piece of paper was used, both the magnet and the paper
fell onto the floor.

Based on the above information, which of the following statements are not
correct?

A: Paper is a material that prevents magnetic force from passing through.
B: The surface of the refrigerator’s door is made of a magnetic material.

C: Force of grévity is only acting on the thicker paper but not on the thin
paper. '

(1) A and B only
{2) A and C only
(3) B and Conly
{4)A,Band C

Page 22 of 37 .
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The diagram below shows layers of cells in a leaf.

30.

In which of the layers of celis, A, B, C or D, will conversion of eniergy from one

form fo another take place?

o/

2
g | lgls
€| ‘mhm
ot D m_m
A
1218188
.. h
[++] %HH
yw
- -
g 5 558
.m.m‘m el &
a,..&.mm.‘.w
m.mmm_m
2l sl xl 2l f
mnnn.o
fOOOD
cimlO|O
mddd..m
Wmmmm
L I B e )

o~ P gy

- 8 a3

End of Booklet A
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HENRY PARK PRIMARY SCHOOL
2014 PRELMINARY EXAMINATION
" PRIMARY 6 SCIENCE

Booklet B

Name: ( )

Class: Primary 6

14 Questions
40 Marks

 Total Time for Booklet A and B: 1 h 45 min

DO NOT OPEN THIS BOOKLET UNTIL. YOU ARE TOLD TO DO SO.
READ AND FOLLOW INSTRUCTIONS CAREFUL!.Y



Booklet B {40 marks

Write your answers fo questions 31 to 4in the spaces given.

The table betow shows the properies of matenal S T U and V.

a1.
Material Watérproof 'Fle)“(ib!e Conductorofheat
S Yes “No Poor .
T - Yes —Yes—— -Good™
U Yes No Good
\'s No Yes Poor

Which matenai S, T, UorV, shoutd Sammy choose to make a cooking pol?

Explain your answer.

32, The diagram below shows the movement of water in a plant.

roofs

a)

b)

stem

ieaves

Y

in the diagram above drawthe movement of food ih a plant using the correct

dotted amows ( ¢
Whywould a plant everitiallydie if the roots were removed?

{11}

{1mj

P6 Science Prelim 2014 -
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33. The diagram below shows Process X being carried out in a flowering plant.

a)~ = Name process X. _ - {1m)

b) Describe how insect Q helps the plant to carry out process X. - {2m)

c) If process Xis not carried out, flowering plants may not be able to reproduce. (T}
Explain why this is so. '

. LT » " Page 25 of 37
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34. The dié'gram below shows cellA,Band C.

a)  PatY can be foundinall three cells. Stateafunction of partY. (1m)
b) Which 2 cells, A, B andlor C, came from the same group of organism?
() Cell—— andcell {imj
(i) Name the group of organism the two cells belong to. - {1m}
{1my)

c) Explain your answer in (b){i).

. Page 26 of 37
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35. Cheryl wented fo investigate how the amount of light affects the rate of
photosynthesis in plants and prepares three setups, A, Band C.

The diagram bslow shows set-ups A and B in a clear glass tank after the planis have
been de-starched for 48 hours.

S\

dlear glass tank covered
with tracing paper with black paper
Set-up A Set-up B

Shie has also preparéd set-up G for the same experiment,

a)  Tick()in the appropriats boxes bielow to show what Cheryl should use in 71m)
Set-up C.

Items for Set-up C Tick
Clear glass hnk
Tracing paper
. Black paper
Living plants
Gardensol
Light |

. Page 27 of 37 - . L
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36. Thediagram below shows how four organisms, A, B, C and D, inferact with one
another In a natural environment.
Thearrows in the diagram show the direction of the flow of energy.

a) Use the letters, A, B, C or D, to identify the following organisms : (Tm)}
Producer
Decomposer

b)  Whatis the main role of the decomposér in the natural envionment? 2m)

e Page 20 of 37
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37. Inan aquatic habitat, two types of male guppies are fourid in about equal rumbers
inttially. The type A male guppies have bright coloured tails while type B male
gupples have dull coloured tails. ' -

However, there is only one typée of female guppies in the same habitat as shown in
the diagram below.

Bright coloured
tail ‘
@
S<maleswith - oy  Offspring A
S~ Toproduce

Offspring B

a) After six months, it was found that the poputation, of Offspring A was much
greater thar that of Offspring B.

Give =@ possible reason why this was observed.

b} When G, an organisii that préys on guppies, was introduced into the habitat
which type of offspring, A or B, is likely to show a greater rate of decrease?

Explain your answer clearly.

L - . Page300f37 -
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38. The table shows the state of four substances A, B, C and D, at different

temperatures.
State of substance at:
Substance : ——

20°C - 40°C 60°C
A Solid Solid Solid
B Sofid. Liquid . Liquid
C Solid Solid Liquid
D Liquid Liquid Liquid

Based on the information glven above, put a tick (

fable below.

\/ ) in the correct column in the

Statemant

Put a tick In the comrect column

True

False

Not
possible
to tell

{i) | Cis a solidat2°C.

() | A and B are both fiquids at 80°C

{tii)- _ D is a gasat50 °C.

(iv) { A, B and C are solids at 0°C

PG Science Prefim 2014 -
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39. Inset-ups A and B below the water in the flasks are being heated.

Set-ups A and B are similar except that in set-up A, the lesttube is put in crushed )
ice, while in Sset-up B, the test tube is put In cold water. Theamount of water
collected in the fest tubes is compared.

~ . Selup AW crushed e

flask —

alrtight stopper\ % — /

test tube

; / - alr-tight stopper

|m

LJ -'_”_:'_"_;_ ‘cold water

a) State if the amount of water collected in Set-up A wilbe greater, smallerar  (1im)

the same as that in Set-up B.

b} Give a reason for your answer in {a).

(2m)

.. : " Page320f37
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40. Ah Meng set up circuit as shown below.

QD D D

circuit

He closed switch S and observed that all the bulbs fighted up.
However, after 30 seconds, one of the bulbs fused @rid all the bulbs did niot

tight up.

Identify the bulb:which most likely has fused.
Explain why all the other bulbs were unable 1o light Up as waell.

(1m)

(@)  Bulb which most likely hasfused: Bulb
(1m)

(b)  Explanation:

Page 33 of 37
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41. The diagram below shows the shadows of poles, P, Q and R, cast at different imes
of the day. Shadows for Rod P and Rod R were castin the evening and early
morning respectively. )

a) {.abel X’ on the diagram above to show the position of the light source of (im)
Rod Q.
b) Exptain how shadows are formed. {1m)

Page 34 of 37
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42. Oiliver setup a circuit as shown bslow using a lemon, anail, a pin, a light bulb and
some wires. The bulb lighted up.

a) State the energy conversion of the above set-up by filling in the boxes below.  (2m)

energy in the lemon

|

energy in the wires

+

‘energy .in the bulb -

b) After som@ time, the bulbbecame dimmer. {(1m}
Explain why this is so.

S . Page 35 of 37
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43, Gabriel wanted to investigate the frictional force between a block and ramps wrapped
with different materiats, P, Q, Rand §, using the set-up shown below.

block

ramp wrapped with material P

Gabriel placed the block on one end of the, ramp wrapped with material P and tilted

the ramp until the block started to move. He measured the angle x at the point
when the block started to move. '

He repeated the experiment with the ramps wrapped with material Q, R and then
S, one at a time. He recorded his results in the table below.

b)

'F"6 Science Prelim 2014

Angle x at which the block starts to }
move ( °)
15
25
10 .
40

Type of material

A0

Based on the resuits of Gabriel's expetiment, airange the materials, P, Q, R {1m)
and S, starting with the material which is the roughest.

How does using the same block ensure thaf the experiment is a fairtest? - {m}

A similar block of a greater mass was placed on the ramp wrapped with {imj
material Q. The ramp was fifed once again untii the block started to.move.

Predict the angle x atwhich the block will start fo move.
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44. The pictures below show a mountain with the amount of ice on it in March 1979 and
September 1998,

March 1979 September 1998

a) From the pictures above, explain the change in the amount of.ice-on the {1m)
mountain from March 1979 to September 1998.

b) From the observation in (a), what can you infer about the average {im)
temperature of the earth in recent years?

The picture below shows plants growing vertically on the wall of a building to
maximise space in a small, populated city with many factories that let out
greenhouse gases.

building

plants

(2m)
c), State one other advantage of growing plants verfically.

End of Booklet 8
» Seflers: Mr Tan JN, Mrs Liu YH, Mrs Seow JJ and Mdm Cecilia Quah
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Section B (Prelims Science} Suggested Answer and Correction

Q | Answers . :
31} Malerial U, it is waterproof, notflexible and is a
good conductor of heat.
32} (a)
roots [ 3 stem [ leaves
(b} The plant is not able to take in water (‘é) td
carry out photosynthesisfto make food (32).
33] (a) Pollination
(b) Insect Q carries pollen grains from another
flower and when it resis on plant P to collect
nectar, pollen grains on its body is rubbed off
the stigma of plant P. ‘
{6) Terliisation cannot take place {1/2) and seeds
cannot be formed (1/2).
34 Part Y controls the aclivities in a cell.
{a) (i) Cell A and C. (must get both correct, NO
%) (ii) A plant.
(b} Cell A and C have a cell wall (}42) and plants
have cell wall (}%)
35 (a) _
ltems for Setup C Tick
Clear glass.tank /
Tracing paper
Black paper
Living plants /
Garden soil /
| Light . ' !

{b) The greater / smaller the amount of light, the greater /

slower the rate of photosynthesis.

{c) Most (more) sugar is produced which gets converted

to most {more) starch




(a) Producer : A Decomposer: C
{b) The decomposer breaks down dead organism (}2)

into simple substances (%)
which provide nutrients to plants-for healthy growth

[37.

(a)Msle guppies of type A has brighit coloured tafts [%2]
and aftracted more female quppies more easily for
matingfreproduction. /4

(b)Offspring A. [14] Offspring A has bright coloured tail
[¥4] which aliowed ittobs spotted (more) easlly [4] and
p reyed upon/ eaten.[ %] ’ '

38.

Puta tick inthe
Statement correct column

True False | NP

® g’ ié-a solid at y
Aand B are
(i) | both fiquids at |
80°C
iy P CIS a gas. at 50 J
- |A. BandCare |V
) solids at 0°C -

39.

a) Groater amount of water will be collected in e test
tube in set-up A versus set-up B.

b) The crushed ice inset-up A is colder/(or has lower
temperature) has less heat than cold water (1m) than
ihe cold water in sef-up B, This will cause more water
vapour fo condense faster. (1m).

1 @) Bulb E (1m)

{b) it becomes an opened circuit / electricity cannot pass
throughfincomplete circuit/no other path for electricity to
flow! {(1m)

il
@

5




(b) (Path of} kght is blocked by objects/rods.
The objects/rods are opaque and prevent/do not let light
pass through.

42.
Ul ¥ light oF tight¥heat

(a) chemical /chemical potential/potential, electrical, heat -

| {b) Mostfless of the chemical potential energy/érirgy has

been converted tol change to light and heat at the fight
bulb.

@S G P.R

(b) Using the same block ensures that only the texture of
the material affects frictional force between the block and
ramp { the anale x at which block starts fo move.

{c) any angle greater than 25° (accept any value between
26°and 90°) -

a) lce on March 1979 has melted (1/2) and so amount of
ice decreased (1/2) by September 1998
b) The surrounding temperature on earth has increased.

¢) More plants {1} can be grown fo release more
oxygen (1) into the air OR take infremove more
carbon dioxide from the air. ’
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